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Jumper connects
Pin 4 of RJ-45 audio ground to
chassis ground

level adjustable —17.5 dBu to -.7 dBu

corresponding to final output
-11.5 dBu to +5.3 dBu

Jstable -15.5 db to +1.3db

For floating configuration:
R21, R22, R23, R24, R27, R28 = 20k
R25, R26 = 1Meg

For non—floating configuration:
R25, R26 = 10k
Omit R21, R22, R23, R24, R27, R28
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Pin 2 or 6 of RJ-45
Pin 6,8,10 or 12 of meter connector
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This circuit is repeated

8 times

R25, R26, R27, R28, C9, C10

really do connect to chassis ground,
not audio ground, but in this assembly
they are connected together.
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out+
Pin 1 or 3 of RJ-45
Pin 5,7,9 or 11 of meter connector

Output Board as Line Amp
floating configuration.
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